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Sample Paper – 2011
Class –XII
 Subject: Computer Science

TIME     : 3 HR




MAX MARK : 70

Instructions
· Answer all questions
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I

a) Give one advantage of function overloading with default arguments
                      1

b) Differentiate between object oriented programming and procedural programming       2 
c) Name the header files for the following code, by specifying the functions , required to execute the following code:                                                  .

void main( )

    {    double d = 32.5;

char c = ‘3’;

if(isalnum(c))

cout<<ceil(d)<<INT_MIN;





          2

      }

d) Rewrite the following after making corrections in the following code, if any. Also underline the corrections made.
    class new

    {
int a=5;








          2

float t;


new (int x)


{t = x; }


~ new(int l) {  }

     };
    void main()

   {        new n,m;

    }
e) Given below two sets of code, differentiate between the variable q in them and give output, if p is stored at location 1530


Set-1




Set-2

int p=50;



int p=50;



         2

int &q=p;



int * q=&p;


cout<<p<<q;



cout<<p<<q;
f)  Give the output of the following program, assuming all header files are available.
       i)     void main()


  {
int x[] = { 10, 20, 30, 40, 50 };



                      3

int *p, **q, *t;


p = x;


t = x+1;


q = &t;


cout<< *p << “\t” << **q << “\t” << *t++;

              }
    ii)      void funnystr(char *s, int n = 2)





          3

{
int i = n;


 while(i < strlen(s))


{



s[i] = '-';



i = i + n;


}


i = 0;


while(s[i] != '\0')


{
if(s[i] > 'A' && s[i] < 'P')




s[i] = tolower(s[i]);



else if(s[i] > 'a' && s[i] < 'p')



{




if(i % 3 == 0)





s[i] = tolower(s[i-1]);




else





s[i] = tolower(s[i]);



}



i++;


}

  }

void main()

{
char str[] = "MiCroSoFT";


funnystr(str,3);


cout<<str;

}

II
 a) What do you understand by Copy constructor? Specify two instances when copy          constructor is invoked?
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 b)  Differentiate between containership and inheritance with example.                                2
 c)  class Test

      { char paper[12];

         int marks;

       };   
 Rewrite the above class definition, by defining a default constructor that assign           1      “computer” to paper and marks to 100.
d) . Define a class BALANCED_MEAL in C++ with following description: 
      Private Members:

Access_no                Integer

Food_Name              String of 25 characters

            Calories                     Integer

            Food_type                 String






          3
            Cost                           Float

      AssignAccess( ) Generates random numbers between 10 and 99 and return it.

     Public Members

· A function INTAKE( ) to allow the user to enter the values of Food_Name,

         Calories, Food_type, cost and call function AssignAccess( ) to assign Access_no.

·   A function OUTPUT( ) to allow user to view the content of all the data members,   if the Food_type is Fruit. Otherwise display message, “Display only for fruit”
e)    class Regular


{


   char Collegecode[10];


   public:



void InRegular();



void OutRegular();


};


class Distance


{protected:


  char StudyCentreCode[5];


  public:



void InDistance();



void OutDistance();


};


class Course : public Regular, Distance


{


    char Code[5];


    float fees;


    int duration;


    public:



void InCourse();



void OutCourse();





                      4

};

(i) Which type of inheritance is shown in the above example?

(ii) Write names of all the member functions accessible from OutCourse function of class Course.

(iii) Write name of all the members accessible through an object of the class Course.

(iv) Is the function InRegular() accessible inside the function InDistance()? Justify your answer.

III
a) Given two arrays A and B of sizes m and n respectively. Write a function MIXAB( )     which takes two arrays and their sizes as arguments and creates an array C such that:

(i) all even nos. of array A which are at even position are copied in C.

(ii) after that all even nos. of array B which are at odd positions are copied in C.

(iii) after that remaining elements of A are copied in C.

(iv) after that remaining elements of B are copied in C.                                          3

     eg: A ={ 3,6,8,5,12}         B ={ 31,15,16,20}  
               then C ={ 8,12,20,3,6,5,31,15,16}          

  b) An integer array A[5][7]is stored in the memory along the row .Find out the memory location of A[4][5], if the address of A[2][3] is 3410.
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 c) Convert the given infix expression into its equivalent postfix form showing stack   status at each step -  False && True || ! (False||True)
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 d) Write the definition for fun1( ),fun2() for a dynamically allocated stack, where each node store information on cities. 
struct node

 {   char *city_name;

       int city_code;

      node* next;

};


              fun1( )     //  to insert a new node to it



          4


             fun2( )    //  to delete a node from it.
IV



  a)  Write a program that will display the size of a text file in bytes. Accept the filename from user. If file does not exist, display the error message “FILE NOT FOUND”
 2
     b)  class Consumer

           { char c_name[20];

             int pbox;

             char area[20];

            public:



         void inconsumer( );         // to get the details of consumer.



         void outconsumer( );       // to display the details of consumer.


                     int checkarea(char ac[])

                     {  return strcmp(area,ac); // checking area with the the value ac ,passed to it

                      }



            }
;
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            Write a function that reads binary file CONSUMER.DAT containing records of above class, and copy those records to CONSUMERAREA.DAT , whose area is same as given by   user. Also, display the number of such records found.                       
V
    a) Define   



   i) Cardinality                ii)   Candidate Key
2
       
 b) Consider the following tables GAMES- storing the details of games  and PLAYER –storing the details of players who have enrolled their names for the scheduled games. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (vi)



Table: GAMES

	GCode
	GameName
	No_Players
	PrizeMoney
	ScheduleDate

	101
	Carom Board
	2
	5000
	23-Jan-2011

	102
	Badminton
	2
	12000
	12-Apr-2011

	103
	Table Tennis 
	4
	8000
	14-Feb-2011

	105
	Chess
	2
	9000
	11-Jan-2011

	108
	Lawn Tennis
	4
	25000
	19-May-2011


Table: PLAYER

	PCode
	PlayerName
	GCode

	11
	Nabi Ahmad
	101

	12
	Ravi Sahai
	108

	13
	Jatin 
	101

	14
	Nazneen
	103


i)
To display name of those games whose  PrizeMoney is in the range 10000 to 30000 and No_Players above 2.


ii)
To display the details of games whose GameName starts with ‘C’  in ascending order of ScheduleDate.

iii)
To display count  of players enrolled for each game.
iv) Display each PCode, PlayerName and the GameName for which they have enrolled.

v)
SELECT SUM(PrizeMoney) FROM GAMES;




vi) 
SELECT COUNT(DISTINCT GCode) FROM PLAYER;                         6
 VI
  a) Show algebraically:-  (A.(B(C)) ( +B(C+AC = 1
                                                          2

  b) Write the equivalent Boolean expression for the logic circuit given below
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   c) Write the canonical P-O-S expression for the following S-O-P expression 

           F(a,b,c) = ∑(1,2,5,6)                                                                                                 2
   d) Reduce the following expression using K-map and draw the circuit only using    NOR gate
F(a,b,c,d) = п(0,1,2,4,5,6,8,9,10,14)



          3
VII
   a) Differentiate between message switching and packet switching.                                 2
   b)  Expand the following:                                                                                                          

        (i) SMS      (ii) CDMA
(iii) TCP / IP
iv)GSM



          2

   c) Define 
       i) Firewall     ii) Proprietory software





          2
   d) “China Middleton Fashion” is planning to expand their network in India,    

      starting with two cities in India to provide infrastructure for distribution of their product. The company has planned to set up their main office units in Chennai at three locations and have named their offices as “Production Unit”, “Finance Unit” and “Media Unit”. The company has its corporate unit in New Delhi.
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Approximate distances between these Units is as follows:
	From
	To
	Distance

	Production Unit
	Finance Unit
	70 mtrs

	Production Unit
	Media Unit
	15 KM

	Production Unit
	Corporate Unit
	2112 KM

	Finance Unit
	Media Unit
	15 KM


                                                                                                                                              4
In continuation of the above, the company experts have planned to install the

following number of computers in each of their office units:

	Production Unit
	150

	Finance Unit
	35

	Media Unit
	10

	Corporate Unit
	30


i) Suggest the kind of network required (LAN,MAN,WAN) for connecting each of the
     following office units:

1)• Production Unit and Media Unit

2)• Production Unit and Finance Unit

ii) Which one of the following devices will you suggest for connecting all the computers  

     within each of their office units?

• Switch/Hub                              • Modem                • Telephone

iii) Which of the following communication media, will you suggest to be procured by the 
     company for connecting their local offices in Chennai for very effective (High Speed)         communication?

• Ethernet cable             • Optical fiber                • Telephone cable

(iv) Suggest a cable/wiring layout for connecting the company’s local office units located 
 in Chennai. Also, suggest an effective method/technology for connecting Chennai unit to the company’s office unit located in Delhi.
*****************
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